Supplemental Table 3. Logistic Regression Models developed from the Training Group

	Model
	Metabolite
	Coef (β)
	Std (β)
	z value
	Pr(>|z|)
	Odds Ratio
	Late-PE

	
	
	
	
	
	
	(95% CI)
	/ Control

	Uterine pulsatility
index (UtPI) only a
	constant offset β0
	-1.438
	0.57
	-2.522
	0.012
	-
	-

	
	UtPI
	0.555
	0.368
	1.508
	0.131
	1.74 (0.85-3.64)
	-

	Metabolites only b
	constant offset β0
	-12.272
	3.063
	-4.007
	0.000
	-
	-

	
	Carnitine
	1.060
	0.378
	2.803
	0.005
	2.89 (1.42-6.38)
	Up

	
	Pyruvate
	0.673
	0.378
	1.779
	0.075
	1.96 (0.99-4.39)
	Up

	
	Acetone
	0.642
	0.327
	1.960
	0.050
	1.9 (1.03-3.73)
	Up

	Metabolites + UtPI c
	constant offset β0
	-17.612
	3.814
	-4.618
	0.000
	-
	-

	
	UtPI
	1.632
	0.507
	3.221
	0.001
	5.11 (1.99-14.77)
	-

	
	Pyruvate
	0.966
	0.398
	2.426
	0.015
	2.63 (1.27-6.24)
	Up

	
	Carnitine
	0.982
	0.438
	2.244
	0.025
	2.67 (1.17-6.63)
	Up

	
	Glycerol
	0.583
	0.225
	2.592
	0.010
	1.79 (1.17-2.85)
	Up

	Metabolites 
+ UtPI + Weight d
	constant offset β0
	-14.926
	3.498
	-4.266
	0.000
	-
	-

	
	Weight
	0.017
	0.018
	0.980
	0.327
	1.02 (0.98-1.05)
	-

	
	UtPI
	1.180
	0.466
	2.531
	0.011
	3.26 (1.35-8.57)
	-

	
	Pyruvate
	0.824
	0.412
	2.000
	0.046
	2.28 (1.08-5.48)
	Up

	
	Carnitine
	1.390
	0.412
	3.376
	0.001
	4.01 (1.88-9.63)
	Up



a) log(π) = -1.438 + 0.555 UtPI
b) log(π) = -12.272 + 1.060 Carnitine + 0.673 Pyruvate + 0.642 Acetone
c) log(π) = -17.612 + 1.632 UtPI + 0.966 Pyruvate + 0.982 Carnitine + 0.583 Glycerol
d) log(π) = -14.926 + 0.017 Weight + 1.180 UtPI + 0.824 Pyruvate + 1.390 Carnitine
, where π is the probability of the proportion of the case (disease) in a group 
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